
Get Smart! 
Addition Trick with Integrals 

 
Pick four integrals from the sixteen definite integrals below so that no two integrals are in 
the same row or column. 
Then evaluate the integrals, find the sum, and you will learn the name of Maxwell 
Smart’s partner. 
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Now, go back and evaluate the other twelve definite integrals.  Can you explain why this 
“trick” always works, no matter which four integrals you choose? 
 

 
Click here for the answer 

http://www.pleacher.com/mp/mlessons/calc2007/trkians.pdf

